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eTGAINSTRUCTIONS

gee7-g3 GET GiET#T @ &9 # #1/The question paper is in the form of test booklet.
eSS FerAl FUT [RER0NeHS Jo:Al & e forget & folw 3eax gieaer faar sream

Answer Booklet will be provided for answering Objective type questions and
Descriptive type questions.

JeA% Feqlavs qed @ [T vk & HfAF 37 8, 15H v &ell Ik &1 T F f_w v
faweql # & 9T Het e} gABY H9AT Hel [dHeT (38T - a), b), ¢) AT d) 57 FeT 8l) I}
Gf&THT & ed@ §ed & @HA i@ g1/ Each objective question is provided with

multiple answers which includes one correct answer. Candidates have to choose the

correct answer and write  a), b), ¢) or d) as the case may be, against the question
number in the space provided in the Answer Booklet.

T A, B, C vd D & & awglss gedl & v vvadh 3% & ST E H, 3 [Aaroncas
qos7 H g% & v 10 & § 3R Rl emawor & foiv 10 37/ All objective questions in
A, B, C & D parts carry 1 mark each. In part E, 3 descriptive type questions carry 10
marks each and 10 marks for Hindi Grammar.

fedft goT & vF & HAF 3ea7 a7t & §d, OF HiH H 3kl @ TeId HeAT ST/

Multiple answers for questions will be regarded as wrong answer.

Jo:7 GRS H IGoISE FUIT H I 3% [T ST FHT &

Space available in the Question booklet can be used for rough work.

TR & Fre (1) -9 SII-FAT F G IR (2) 3eax §iEasr s @ alT &l

At the end of the test (1) Admit Card with photograph and (2) Answer Booklet shall be
returned to the Invigilator.



aEr/Part - A
HAT _3asf/General English

Fill up the blank space by selecting the suitable preposition among the alternatives given below.

1. A true patriot is always loyal ----------- his country.

a) for b) to” c) about d) on
2. | have some acquaintance ------------ French.

a) at b) for c) to d) with

Choose the word which is closest in meaning to the underlined word.

3. The inspector was a vigilant young man.
a) Intelligent b) Watchful c) Ambitious d) Smart

4. The time | spent in the library was a most rewarding one.
a) Profitable b) Paying c) Serviceable d) Precious

5. The notice said that meeting would begin precisely at 9.30 AM.
a) Approximately b) Exactly c) Accurately d) Concisely

In these questions, out of four alternatives, choose the one which can be substituted for the
given words/sentence.

6. Prohibited by law or treaty from being imported or exported.
a) Contraband b) Smuggled c) Counterfeit d) Forged

7. A person in a vehicle or horseback escorting another vehicle.
a) Navigator b) Escort c) Outrider d) Security

8. A person living permanently in a certain place
a) Native b) Domicile c) Resident d) Subject

Wronaly spelt word in the following questions may be identified.

9. a) Defamation b) Arrogant c) Exhorbitant d) All correct
10. a) Decompose b) Veteran c) Ventursome d) All correct
11. a) Wastefull b) Prejudice c) Embarrassing d) All correct
12. a) Significant b) Possessive c) Impatient - d) All correct
13. a) Prosperous b) Glumy c) Dormant d) All correct



Read the passage carefully and choose the best answer to each out of the alternatives.

The postmaster first took up his duties in the village of Ullapur. Though the village was a
small one, there was an indigo factory nearby and the proprietor, an Englishman had managed
to get a post office established.

Our postmaster belonged to Kolkata. He felt like a fish out of water in the remote village,
his office and living room were in a dark thatched shed, not far from a green, slimy pond,
surrounded on all sides by a dense growth.

The man employed in the indigo factory had no leisure; moreover they were hardly
desirable companions for decent folk. Nor is a Kolkata boy an adept in the art of associating
with others. Among strangers he appears the postmaster had but little company, nor had he
much to do.

At times he tried his hand wring a verse or two. That the movement of the leaves and
clouds of the sky were enough to fill life with joy such were the sentiments to which he sought
to give expression, but God knows that the poor fellow would have felt it as the gift of a new
life, if some genie of the Arabian Nights had in one night swept away the trees, leaves and all,
and replaced them with a macadamized road, hiding the clouds from view with rows of tall
houses.

14. Find the word in the passage which is opposite to ‘near’
a) remote b) convenient c) unknown d) close

15. Find the word in the passage which means ‘the owner of business'.
a) Proprietor b) Constructor c) Entrepreneur d) Businessman

16. The adjective used to describe the postmaster living room is
a) deep b) bright c) dark d)light

17. What does the phrase ‘litle company’ in the passage mean ?
a) Business-like b) bad friendship
c) hardly any friends d)small business

18. At times the postmaster wrote
a) dramas b) poems c) Novels d)short stories

19. The postmaster wrote on the
a) Beauty of the village b) beauty of nature
c) beauty of himself d) beauty of weather

20. The word ‘genie’ means
a) soul b) monster c)spirit d) ghost
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#1ar/Part B
AT A g difs 4@ ar/General Knowledge & Reasoning Ability

.Wﬁwwﬁﬁzmswmmmwmmwﬁ?

Who has been awarded with the Dada Saheb Phalke Award for the year 2018 in the
National Film Awards?

a) MR &Yq/Sashi Kapoor b) @Al @e=11/Vinod Khanna
c) U WI/Anupam Kher d) #H=leT FHAR/Manoj Kumar

FIHAT SERY 37eAeT HiA §2 / Who is the current Chairman of ISRO?

a) f. & urHsU=T/Dr. K Radhakrishnan b) T 3 @ fhior $AR/Shri A S Kiran Kumar
c) 3t. & fRIa=7/Dr. K Sivan d) A S #ATasr AG”/Shri G Madhavan Nair

IGH & Eite) HAY &1 ATH/Name of the Assam Chief Minister

a) 99«7 geNRkehT/Bhupen Hazarika b) d%UT IMeMS/Tarun Gogoi
c) HalHG Hisrarel/Sarbananda Sonowal d) fa] gesrash/Biju Patnaik

HRTETS 1o T Hee R Wol @ §2/Mirabai Chanu is related to which sport?

a) ARIcdle=1/Weight lifting b) &sfHe=1/Badminton
c) Fc/Wrestling d) s cfad/Table Tennis

faeg BEr ey &v av fopw e Famr Srar g2

On which day every year Vishwa Hindi Diwas is celebrated?

a) 14 fAde/September b) 10 ST=ai/January
c) 12 fadst/September d) 14 SJ=a{l/January

EIA-U-SATET T TAIT fRaer Hr MN?/Deen-E-llahi is founded by:-

a) sray/Babar b) 3ee/Akbar c) &d/Kabeer d) eReME/Shershah
ST A Flef Ade $9Td I JEAh Tl 67

Which of the following is a book not written by Chetan Bhagat?

a) WI3d disc gHAA/Five point Someone b) & <grsc €189R/The White Tiger
c) T ¥cHl 2 States d) g et $s/Half Girl friend

gt AT ford el & WS €72
Elon Musk is the CEO of which Company?

a) WEOIEF/Face book b) THASAIT/Amazon
c) Erel/Google d) ¥ wFH/Space X



29. TAA AT JHG HT ATH?

Name the current Chief of the Naval Staff?
a) fA#e FAR @#/Nirmal Kumar Verma b) AT & ea=i/Robin K Dhowan
c) &dwg FAR SefDevendra Kumar Joshi d) gfe¥er @ier/Sunil Lanba

30. IARTSET AfRT @Ay & FHART SATAT §2/When is International Women’s Day Celebrated?

a) 14 #gsI/November b) 5 fAdet/September
c) 8 #Ar/March d) 10 S=ad/January

31. geAarae e (?) & T W 3R fadeq gy for:-

Find out the correct choice to replace the question mark(?)

Arce : G 0 HE@ENR ?

Drama : Director: : : Newspaper: ?

a) #ATfeler/Owner b) H9TGeH/Editor

c) wstH/Manager d) @ietA a@d/Column Writer

32.¢5ff : HUsT ;  ARY : ?

Tailor :Cloth : : Cobbler : ?
a) #HM=T/Machine b) #AIFAT/Repairing
c) dH3T/Leather d) f@ems/Sewing

feafaf@d ereal & & 3 reel &l ol St WA Yehid & A6l &l

Pick the word from the following words which is not of similar nature

33.a) sRI#HICI/Barometer b) ¥HfHIEI/Thermometer
c) sarHIE/Diameter d) olererHTe/Lactometer
34.a) gcd/Circle b) 3i8THR/Ellipse
c) ad/Square d) g=1/Sphere

feafaf@a faswedl & s@er qu #:/Complete the following series from the given alternatives:

35.D K, FJdW,. HIEU, & JHS, aousssievas ?
a) KGR by LPQ o KFR d LGAQ
#Er/Part C
Farfora/Arithmetic

36.(0.2 X 3.5X8) + (0.7X1.8X12) = ?
a) 21.99 b) 20.72 c) 27.02 d) 25.34

37.123"°X'3.37= 7
a) 39.99 b) 38.69
c) 40.59 d) 351 ¥ #15 Aci/None of these



38. fawAfaif@d TR & weeadt &1 e #41 grem? \

What will be the average of the following set of scores?

283, 345, 442, 786, 242
a) 416.9 v b) 417.8 c) 419.6 d) 4215

39.Ush ¢oT 5 B¢ # 315 . & gt a& &xar g1 v @mgfher T aifd &7 v afq &1 1/3 B
aisfher 2 8¢ A fohdell gl da $@M?A train covers 315km in 5 hours. The speed of a

bicycle is 1/3" the speed of the train. How much distance will the bicycle cover in two

hours?
a) 45 fr.#r/km b) 41 fh.#T./km
c) 44 f&#AT/km d) 42 fF.#A/km

40. 98N 3R FeeT T adAE Y F @ U 4.5 ¢ A 9w @ F a6 et F g H
3T 5:6 g1 STaT §, ol GUR HT adAe 3G 47 gleN?/The ratio between the present
ages of Sudhir and Madan is 4:5. If after 5 years the ratio of their ages becomes 5:6,
what is the present age of Sudhir?

a) 18 aW¥lyears b) 21 a¥/years c) 22 a¥lyears d) 20 aW/years

41.7000 <t &T @meTd 5740 %. g1 svétﬁﬂaﬁa?mﬁmﬁﬂa‘qﬁsosa g1 gfa 1000
gt & v el AR FAT gram?
Cost of 7000 bricks is Rs.5740. Cost of labour to carry the bricks to the building place is
Rs. 805. What is the cost at per thousand bricks?

a) 900 %/Rs. b) 750 %/Rs. c) 800 ¥/Rs. d) 935 %¥/Rs.

42.7% 39 did &F 7 AT R St § 3R 13 FAg SfF anchr g1 @ qv FAF F e F fRae
gfaerd A Sha?
A base ball team has lost 7 matches and has won 13 matches. What percent of the
matches played did they win?

a) 35 b) 30 c) 65 d) 50

43.TH TH T 15% & [hdll W 136 &. & duar g1 15% a7 & fav 3§ 30 oy Hed
SgaT a1fge? Ram sold a cow for Rs. 136 at a loss of 15%. At what price should he
have sold it to gain 15%7?

a) 184 %/Rs. b) 186 ®¥/Rs. c) 180 ¥/Rs. d) 189 %/Rs.

44. 37 UF FF 20 AT F o GFhar g1 39 3k 10 A T e foham) Ow &7 39 2 fear
# feaAer 7 #Heg @ g fohar| I8 S Al gann Aot fhder fealt & qur fovar s aehem?
Ramesh can do a work in 20 days. He worked alone for 10 days. Remaining work was
completed with the help of Dinesh in 2 days. In how many days will the work be
completed by both together?

a) 2 f&s/Days b) 3 f&e/Days c) 5 f=/Days d) 4 &s7/Days

\



45. U el FoId o7 FAT 540 &, &1 0F 319 Fod &1 HAT fhdeir gref?

The prize of one dozen pens is Rs. 540. What will be the price of 319 such pens?
a) 14355 %¥/Rs. b) 12345 3/Rs. c) 14250 %/Rs. d) 14350 ¥/Rs.

46.mmﬁwmw§awmmmﬁzoaﬁm%l drg & gear fhder
£2/The sum of three consecutive odd numbers is 20 more than the first number of these.
What is the middle number?
a) 7 b) 9 c) 12 d 8

47. wa gt 15 3. oar aur 10 #. dier &1 afE g Hr Far$ 6 A §, A URT JErt # aEAnd
Far §2/A hall is 15m long and 10m wide. If the height of the hall is 6m, what is the
area of its four walls?

a) 150 #r./m? b) 300 #r.%/m? c) 90 #.¥m? d) 900 #.7m?
48.1F Jed H HTAT 10% G ST §, o $HHRT &ADA ......... ¥ gedr gl

The radius of the circle is diminished by 10%, the area is diminished by:

a) 10% b) 15% c) 19% d) 20%

49. 957 FT Jcdh IR 8 X §| O F HAdT FT §7?
Each side of the cube measures 8 metres. What is the volume of the cube?
a) 72 Cu.m b) 144 Cu.m
c) 196 Cu.m d) 358 & A AAgi/None of these

50. fArrfaf@a Aol & sia-dr dwar 3wef?

Which of the following number will appear in the series?

6, 15, 24, 33, 42, 51, ...
a) 58 b) 59 c) 62 d) 60

aer/Part D
#Heqel_HAE/Computer Literacy

51. Teh TB d1fa/ One TB is equal to
a) 1000 UGB b) 1024 NGB c) 1036 SNVGB d) 256 SNVGB

52. feet 3R @ I8 & Q THee & Qode fHAT ST RAT &/ The entire test in word is
selected by the following command.
a) Ctrl+A b) Ctrl+Z c) Ctri+Y d) Ctrl+P

53. Tt faf@d & ¥ gaqe f3arsw e @1 82/ Which one of the following is the input device?
a) H=ire/Monitor b) ReX/Printer c) THIR/Scanner d) ¥dret/Speaker

54, HTTP & 319 &1 §HSId g 2/HTTP stands for
a) Head Tail Transfer Protocol

O

Hypertext Tail Transfer Protocol

O

)
) Hypertext Transfer Protocol
)

o

Hypertext Tell Transfer Protocol



55. RAM &1 §?/ What is RAM?
a) Random Access Memory

) Read Automatic Memory

c) Random Accessing Memory

) Random Allowable Memory

56. www T 31 g1 &/ www stands for
a) World Whole Web b) Wide World Web
c) Web World Wide d) World Wide Web

57. HAT AT FAT §7/What does MANTRA refer to
a) FRTERT FaETeld & AT FHATCRT GART G JuAeT FHCIAT
An application software used by Ministries for office automation.
b) ¥ WfOd 3fefare ge/A machine Aided Translation tool
c) qﬁaﬁa@ﬁaswaﬁaaﬁtméﬁﬁmqgﬁmmw
An application software used for automatic maintenance of transport vehicle

d) s ¥ Fg Agi/None of these

58. i TT HleT m(ﬁamm)mmmmmmmmg/wmh
of the following font is used to prepare the documents in bilingual(Hindi & English)
ay BVITT..s b) DVBTT....... €) DVOT s d) DVTT.....EN

59. foRdlY hegeX T &ilfae Tesh § /The physical component of a computer is

a) TUreday/Software b) gTsaaR/Hardware
c) &g d@rdg/Central CPU d) Tuerg/ALU

60. taalr ARy & fw e RAffd & @ # & Foff oo & 3¢ Faw HOF 39gFA
gl Which one of the following is the most suitable keyboard layout for Devanagari
script?

a) saf&hee/INSCRIPT b) §&T wiAfeea/Easy phonetic
c) Bifee geenei/Phonetic English  d) Z8uRige Yf#eTeH/Typewriter Remington

Her/Part E
faatoncAs® wes/Descriptive Type question

61.fw fafea vl & P v ) ey _f@w|
F) [CE LR @) AfRAA-Uh grdsh ar) gucperT e (10 3t®)
62.mﬁqﬁ$$m¢hﬁrﬁﬁ$§amaﬁrmﬁm§uaﬁwmﬁaﬁiwﬂ
Wwaﬂwm@wwml (10 3%)



63.FreATAf@d 1eZier # €A & Ygt 38 AT fEU T geaAt & 3ok Haid & fAf@Ul (10 37F)

ST & GAST # a1 T Gaa & T & 3T & JqT AR e HR FHAAT
HEGH HT W@ &1 FAS F T T 3cArar i gt qocl S @ &1 9, SR IT ST el
3 GI&T T ARl AT © AT BI A Al G G RTSId X 9T T & A P gerehT T
A F FOER TG & @ ¢ 57 Tad U Gae & oW 1 FAeha A SFEAER & ar Al
T AV T 39S N IAPR FeA I Yghedd| g [deT T Ffel 1 favT g

R off sIRd S faene & & Sl I§ Ferad § I9 Yodd AR dF Sadr Aedl Tw
Fears ¢ & fOaer B 9o srer dter § 3 ary garst @e ool @ SR 9T &) IE W &
foF 37 3T AR R The FHAT RN WoATS, FANHA, Yfre Feehl diehowdT gl TS| AR Y
off =TT T WA Sead Ud faddqur {f & &eem gl @l vk gEY & Wl & ol 9%
e ox @1 SIa S Askar His A& gl M3 9T &Y R FHAST #r ger f&m & vad aArly &r
FAT et @ gRaT e | Ay ofr i S W@ @ 0 ARl & ST T HHAAT FA A
afd W Faer gas &1 @A fRar ST @56
gReT 1 : 3TeT T ARY FAT FgHH HX W ?

g 2 : AT & 0 WA & fov Fia SFeR § 2
gl 3 : AR H AR & a & 41 T WY ?

9T 4 : AT BT FAT FIAT e ?

e 5 : e 3fad ofeE |

64.fAefaf@d arral & g Hfsw: (2 3®)
(i) &% Yo & Feramal & REar g3
(i) MR & fF 3TU A AT FH FIS 3cad] Agr Al
65. et f@a Hgrat & wer 31 &1 faswey oy ford: (2 31%F)
(i) 3mecer &1 |9
(@) I A (@) Hudr AT (31) e & (a) €@t @
(i) 3rFer WX JeUT 9FAT
() AT @ AT oeEr (W) 9reTel gY A=A (@M faX 9 3 PR (7) gfigerse gl
66.feITaf@d eree @ & v U ereg for: (2 3F)
(i) oras gare gfad =18l &

(i) g a1 & forw g
(iii) ST Ig # R TEar §
(

iv) St gaeT & X g

67.fArafaf@a el & faudards (faaw) e fo@: (2 31%)
(i) fagfse (i) 3FTRTT (iii) 3eaRm@or  (iv) RRAeT

68.Afaf@a fadsat &1 fadwor faf@w: (2 31F)

(i)

T (i) THUZ (i) ST (iv) 3

c

LRSS LRSS SRR R LS



